/DVIRB

3UDFRZQLN 5RINiaDG P JU %HGQDUHN -DZD ORQLND 7\J

7\
o -CI\NDQJ iz % PJ
™ U %HGQDUHN .DZD
ORQIND = 6-275
/  $1*
7N
£ -CI\WDQJ iZ % PJ
I 0
=] U %HGQDUHN .DZD
x ORQIND = 6-275
N /  $1*
GUXJL I REF\
7N 7N 7N
A -CI\WDQJ iz % P -CI\WDQJ iz % P -CI\WDQJ iz % PJ
o JU %HGQDUHN .DZD JU %HGQDUHN .DZD U %HGQDUHN .DZD
x ORQIND = 6-2 ORQIND = 6-275 ORQIND = 6-2 5.3
T $"00 $1* /  $1* /  $1*
NRQZHUWDIRUXP , JR
| REFHJR
7\ 7\
— -CI\NDQJ iz % PJ -CI\NDQJ iz % PJ
] U %HGQDUHN .DZD U %HGQDUHN .DZD
ORQIND = 6-2 ORQIND = 6-2
$"0/ $1* $"0/ $1*
7\ 7\
%
= -C]\NDQJ iZ % PJ -C]\NDQJ iz % PJ
Q U %HGQDUHN .DZD U %HGQDUHN .DZD
n ORQIND = 6-2 ORQIND = 6-2

3("5 $1*

3("5 $1*




